GEOGRAPHY TERM 6 YEAR 9 HOME LEARNING PACK LESSON 1

Choose one quiz, either A or B and answer a range of exam questions that add up to 18 marks in total. For example 3x 6markers or 1x9marker + 1x 6 marker + 3marker.
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QUIZ A
a. Development is…
b. Development indicators are….
c. List the four indicators that the UN uses in the Human Development Index (HDI) 
d. The development gap is….
e. Explain one human cause of the development gap: education, trade, colonialism. 
f. Explain one physical cause of the development gap: landlocked, climate. 
g. Differential wealth is an effect of the gap. How this impact on quality of life in Africa and the USA?
h. How does development affect migration?
i. A population pyramid is…..
j. Do LICs or HICs have a wide base? Why?
k. Do LICs or HICs have wide bars at the top of the pyramid? Why?
l. What happens to the width of the bars in an LIC population pyramid?

[image: ]PRACTICE EXAM QUESTIONS
1. Study Figure 1, a world map showing the global distribution of Human Development Index (HBI) values. 
a. Compare HDI values in Africa & South America. (2 marks)
b. Outline one disadvantage of using a single measure of development. (3)
2. Study Figure 2. Explain how one of the indicators of development in Figure 2 shows the differences in the quality of life between the three countries. (4)
3. Study Figure 3, population pyramids of two countries. 
a. What % of the population are females, aged between 10 and 14 years of age in pyramid B? (1 mark)
b. Compare the shapes of the two pyramids. (3 marks)
c. Explain how these population pyramids suggest that these countries are in different stages of the Demographic Transition Model (6 marks)
4. Outline one way Fairtrade deals with the issue of unequal development (4)
5. Suggest one reason why Fairtrade schemes are not always successful. (2 marks)
6. Using an example, assess the impact tourism has on poorer countries. (9 marks)
7. Study the text box in Figure 4, an extract from a website about a microfinance programme in Africa. Use the extract and your own knowledge to explain how people in the poorer part of the world can attempt to improve their own quality of life. (4 marks)
8. Suggest how the growth of tourism in a LIC or NEE might help to reduce the development gap. (4 marks)
9. Study Figure 5 (previous page), a table showing the Gross National Income (GNI) data for selected countries in 2016. Calculate the mean, median and interquartile range value for the GNI data in Figure 5. 
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The Hunger Project's Microfinance Programme is a training, savings and credit
programme which began in 1999. One of it schemes involved the setting up of
Rural Banks. By the end of 2009 twenty Rural Banks had started to operate. The
Rural Banks are independent of the main banks, and they are community owned
and led by women.

The Hunger Project helps women to gain access to credit and it teaches the
importance of saving. This means that the women can invest in their businesses
and increase their incomes. They can then pay their children's school fees, buid pit
atrines, buy medicines, pay for health care, and make home improvements or buid
new homes.

Also, by taking part in the programme, women leaders develop self-confidence and
assertiveness, gaining higher status in their households and communities.
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Development

The process of change for the better

REDUCING THE DEVELOPMENT GAP

Development Indicator

Ameasure of development (e.g. birth rate, death
rate, infant mortality rate, literacy rate)

GrossNational Income

Total income of a country {including money earned
overseas).

Gross Domestic Product

Total income of a country (excluding money earned
overseas).

Human Development Index

Used by the UN to determine development. it uses
literacy rate, GDP, life expectancy and number of
years in school,

Why is it important to use
more than one indicator?

> Averages are not always reliable. GDP/capita—not
everyone earns the same.

> Anomalies could give inaccurate results

> HICs sometimes have a high death rate as their
populationis elderly.

CAUSES OF THE DEVELOPMENT GAP

Alack of education
increases the gap...

People do not develop skills=low paid job = their children
get a poor education...etc.

Poortrade increases
the development gap
because

LICs sell cheap primary goods and buy expensive secondary
goods, whereas HICs sell expensive secondary goods and
buy cheap primary goods. HICs also have better trade links.

Extreme climates
increase the gap...

Crops cannot be grown =LICs have fewer goods to export
(agriculture is the main source of income in LICs)

Landlocked countries
increase the gap...

They cannot trade as easily as they do not have a coastline.

Colonialismincreased
the development gap
because...

In 1900s, many colonized countries gained independence.
This was followed by corruption and civil wars as groups
tried to gain power. Countries/companies do not wantto
trade with countries experiencing corruption or civil war.
Alsothe governments didr't spend money on the things
that matter (food/water/education) as they were corrupt.

IMPACTS/EFFECTSOF THE DEVELOPMENT GAP

Difference in wealth

The USA's share of global wealth is 35%. Africa’s share of
global wealth is just 1%.

Difference in health

There is a higher death rate and lower life expectancy in
LICs : 40% children die before 15 yrs and only 20% live past
70years.

Migration —people
move from one place
toanother.

People leave voluntarily {e.g. for a job or family) or are
forced (war). An economic migrant is someone who
chooses toleave. A refugee is someone who is forced to
leave.

Acountry receives help (money, food, skills, Oxfam’s Goat Aid: families are given a goat. It produces
Aid technology). It can be long term or respondingto | milk which can be sold, it's manure can be used as
an emergency. Sertilser, goats bred easily = kids can besoldor eaten.
HICs reduce the amount of money LICS/NEES have | . 005 11 1 ternationl Monetary Fund cancelled the
DebtRelief | to pay back =money can be used to develop
debt owed by the poorest 19 LICs.
country (education, water, sanitation).
Countries & TNCs open factories/officesin LICs
Investment | due to cheap abour. It helps LICS with Shell and KFC in Nigeria. Also more than 2000 Chinese
companies invest billions in Africa,
employment, income and accessing resources.
Very small loans given to locals in LICs to start Practical Action helped build an earth dam near Adis
Microfinance
Loane small businesses. They help the economy togrow | Nifas (Ethiopia) =a reservoir was created = farmiand was
and employment rates to rise. irrigatedin the dry season =crops could be grown.
Intermediate | Countries and NGOs develop simple, easy toleam, P’f“’“‘”m"’"he"’e"b“”d""E"’rm"’"’f"’“’s
Technology | cheap technology to helpimprove LIC businesses. | /S (Et/i0pia) =a reservoir was created =farmland was
- | irrigatedin the dry season = crops could be grown.
Joins up small scale farms to form co-operatives =
« Ensures farmers get a fair price for their crops ’ s
FairTrade farmers save money as they are buying and selling
« Invests money in local communities. 2
products in larger amounts
Jamaica is located in the Caribbean. It suffers from slow development, debt and unemployment. Tourism is one
of the main sources of income, with over 1.9 million visitors/yr. People visit Jamaica due to its tropical climate,
sandy beaches, exotic wildlife, oceans and for adventure (deep sea diving). Tourists have a good and bad impact.
Tourism v 24% ofits GDP is from tourism ($2billionperyr) | 2+ Most ofthe profits go abroad
v Higher income =more tax to spend on services %+ Tourists harm ecosystems —coral reefs are
¥ 200,000jobs damaged and pollution from development.
v It hasimproved Jamaica’s infrastructure. % Jobs are seasonal
Population Pyramids Demographic TransitionModel
The population is divided up into 5 year gaps. It tells you F
the number of men/women alive in each 5 year gap. <o
It shows a snapshot of the population at the time it
was created.
The width of the bars at top tel us how many
older peaple there are: lfe expectancy.
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